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3.   ��0�@�<�������D��56?:@@��0�@�
�/�0
12�3�4�������������6������7�08�9 
:�;:@@�
��	8�8�8<���6������7�08�9 �J.����0�@�
@�
���������>�?�
@���	
����������A? 
�?���
m	
�����0.@�0�;C����1�A?��;��@����=���:/�/
�1D�18� :�;�
���������>�?�
@���	
� 
���������A?�?���
m	
�����0.@�0�;C����1�A? ��.��� 0��5�6���8��;	E��
� 
 4.  �E�����������	
����������A?D��/A?��	
��

� 2 ��F<1 56?����5����	
����������A? 
8 0
���C9 �
@ 1 ��@ ��@�; 50 ���� ��1 25 ��@ 
 5.  �1.��0�
�0F������������0��8�1�E�C�� �E������0�@�
�/�0
12�3�4����������� 
��6������7�08�9 :�;�
��	8�8�8<���6������7�08�9=���
������ �

���F<1����� :�;��F<1��@�F1   
Q�������=?�0�@W@
@���1�����

�C���� 

1.   8��	:@@�
� :�;�E�/��;:�����>�?1�������;C9�?����3�������0R�8��J.��8��	0�@ 
0118�o��8<�>� 

 
�����
)��� 4*"��.� 
 
  5����������;C9=?�1A�C��<�8<�� t �
���
 

1.  0R�8�5����C��FsK�J���.���1.�  1��
���
 
           1.1  C��<����18�� (IOC) =��:@@��0�@�
�/�0
12�3�4�������������6������7�08�9 
           1.2  C��<����1����<�� :�;�E���		E�:��=��:@@�
�/�0
12�3�4����������� 
��6������7�08�9 
           1.3  C��<����1�6.��1
��=��:@@��0�@�
�/�0
12�3�4�������������6������7�08�9 
�?��0A8�=��  Kuder  Richardson : KR-20 (Mehren  and  Lehmann, 1984 : 276) 
          1.4  C��<����18�� (IC) =��:@@�
��	8�8�8<���6������7�08�9 
                   1.5  C��<��E���		E�:��=��:@@�
��	8�8�8<���6������7�08�9D��C��<��� (t-test) 
                   1.6  C��<����1�6.��1
��=��:@@�
��	8�8�8<���6������7�08�9D��56?0
1��;0��3�4
:��{�=������@�� (Cronbach, 1990 : 204) 
           1.7  C��<��W���� (X ) =���;:����1=����F<1����� :�;��F<1��@�F1 
           1.8  C��<��@�����@�1�8�o�� (S) =���;:����1=����F<1����� :�;��F<1��@�F1 

2.  0R�8��J.��C������0�@0118�o�� 
          2.1  �����0�@���1:8�8<��=���;:���W�����<��0���;C�<����F<1�����:�;��F<1 
��@�F1  D��56?�<���:@@��F<18
���<����0�;	���
� (t-test  Independent  Groups) 
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         2.2  ��0�@0118�o���J.��C����1:8�8<��=���;:���W����/�0
12�3�4����������� 
��6������7�08�9 ��.��� 0��5�6���8��;	E��
� :�;�	8�8�8<���6������7�08�9=���
�������<�� 
�
@C�
�>�?�
@���0���

���F<1����� :�;��F<1��@�F1D��56?�����0�@��:@@��F<18
���<�� 
>1<��0�;	���
� (t-test  Dependent  Groups) 
          2.3  ��0�@0118�o���J.��C����1:8�8<��=���;:���W����/�0
12�3�4����������� 
��6������7�08�9 ��.��� 0��5�6���8��;	E��
� :�;�	8�8�8<���6������7�08�9�;C�<����F<1������
@
��F<1��@�F1D��56?�����0�@��:@@��F<18
���<����0�;	���
� (t-test  Independent  Groups) 
 
+7������!�"!������
)��� 4*"��.� 

 
1.  +7���8���9�� 

             1.1  �<��W���� (Arithmetic Mean) (Walpole, 1983 : 27) 
 

0A8� X     =  
n

∑ x
 

       
�1.�� X  :�� �<��W���� 
 X  :��   /���1=���;:���

�C1� 
  n           :��  	E�����
������5���F<18
���<�� 

         
 �<��@�����@�1�8�o�� (Standard Deviation) (Walpole, 1983 : 39) 

 

  0A8� S.D.     =    
( )

( )1-nn
xxn
22∑ ∑−

 

   
�1.�� S.D. :�� �<��@�����@�1�8�o�� 
 ∑ 2x  :�� /���1=���;:��:8<�;�<����E��
�0�� 

( )2x∑ :��  /���1=���;:���

�C1����E��
�0�� 
    n :�� 	E������5���F<18
���<�� 
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2.   +7������!�"!��������+��)�:;�8
)�������� 
 �<����18�� (Validity) =��:@@��0�@�
�/�0
12�3�4�������������6������7�08�9  
D��56?0A8��
���
 (Bergman, 1996 : 232) 

 

 0A8� IOC = 
n

R∑  

        
�1.��        IOC :��   �
6�����10����?���;C�<��=?�0�@�
@	F���;0��9 

           ���������A? 

  ΣR :��   /���1=�����1����C~�=��/A?�6����6�r�

�C1� 
  n :��   	E����/A?�6����6�r 
 

 �<����1��� (Difficulty) =��:@@��0�@�
�/�0
12�3�4�������������6������7�08�9D��56?
0A8��
���
 (Gronlund and Linn, 1990 : 249) 
 

 0A8� P = 
T

R  

 
 �1.�� P :��   �<����1���=��=?�0�@:8<�;=?� 
  R :��   	E�����
���������8�@RA�5�:8<�;=?� 
  T :��   	E�����
����������=?�0�@�

�C1� 

 
 �E���		E�:�� (Discrimination) =��:@@��0�@�
�/�0
12�3�4�������������6������7�08�9
D��56?0A8��
���
 (Gronlund and Linn, 1990 : 250) 
  

0A8� D = 

2

T

RR Lu −  

�1.�� D :��   �<��E���		E�:�����=?� 
  R U :��   	E�����
���������8�@RA�=?��

�5���F<10A� 
  R L :��   	E�����
���������8�@RA�=?��

�5���F<18�E� 
  T :��   	E�����
������5���F<18
���<���

�C1� 
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                2.4  �<����1�6.��1
�� (Reliability) =��:@@��0�@�
�/�0
12�3�4����������� 
��6������7�08�9 D��56?0A8�=���A����9-��6��9�0
� 20 (Kuder-Richadson 20 : KR-20) 
 (Mehren  and  Lehmann, 1984 : 276) 
 

 0A8� r xx = 











−

−
∑

2

xS

pq
1

1n

n  

  
�1.�� r xx :��   �<����1�6.��1
��=��:@@��0�@�

�W@
@ 
 n :��   	E����=?�=��:@@��0�@ 
              p :��   0
�0<��=���
���������8�@RA�5�:8<�;=?� 
     p   =    	E�����
���������8�@RA� 
    	E�����
�������

�C1� 

      q :��   0
�0<��=���
���������8�@/��5�:8<�;=?� (1- p) 
 2

xS  :��   �;:�����1:������=���;:���

�W@
@ 
   

 �<����18��=��:@@�
��	8�8�8<���6������7�08�9 D��56?0A8��
���
  (�
�:��� 
1�	�� J���
8�9  ����
8�9, 2538 :117) 

 

 0A8� IC = 
n

R∑  

        
�1.��        IC :��   �
6�����10����?���;C�<��=?����1�
@J28����1 

  ΣR :��   /���1=���;:�����1����C~�=��/A?�6����6�r�

�C1� 
  n :��   	E����/A?�6����6�r 

 
               2.6 C��<��E���		E�:�� (Discrimination) =��:@@�
��	8�8�8<���6������7�08�9 
	�������0�@�<��� (t-test) 1�0A8��
���
 (Edward, 1957 : 152-154) 

 

 0A8� t            =            

L

2

L

H

2

H

LH

n

S

n

S

XX

+

−  
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 �1.��    t               :��   �E���		E�:�� 
          HX            :��   �<��W����=����F<10A� 
                

L
X            :��   �<��W����=����F<18�E�   

                2

H
S             :��  ���1:������=���;:��5���F<10A� 

                2

L
S              :��   ���1:������=���;:��5���F<18�E� 

                
H
n             :��   	E����8
���<��5���F<10A�  

             
L
n              :��   	E����8
���<��5���F<18�E� 

 
                2.7  C��<����1�6.��1
��=��:@@�
��	8�8�8<���6������7�08�9D��56?0A8�0
1��;0��3�4

:��{� (α-Coefficient) =������@
� (Cronbach, 1990 : 204) 
          

     0A8�    α    =         











−∑

2

t

2

i

S

S
1

1-n

n   

 

    �1.�� α :��   �<����1�6.��1
��=��:@@�
� 
  n :��   	E����=?�=�����.���1.��
� 
  Si

2 :��   ���1:������=���;:�����=?� 
  St

2 :��   ���1:������=���;:�����.���1.��

�W@
@ 
 

3.  +7������!�"!�����
+�� 
     3.1 ��0�@���1:������ 

                        5������0�@���1:������	;56?�<���{5������0�@ (F-Distribution) Q���5�
�����0�@�<���{	;8

�0118�o�����0R�8��
���
 (Kohout, 1974  : 349)   

  
   0118�o��  H0   :  2

2

2

1 σσ =  
   H1   :   2

2

2

1 σσ ≠  
 
   �1.��  2

1σ    :��   ���1:������=��=?�1A�5���F<1����� 
   2

2σ    :��   ���1:������=��=?�1A�5���F<1��@�F1 
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           0A8�  F  =  
2

2

2

1

S

S  

    df1  =  n1-1  :�;  df2  =  n2- 1 
 
            �1.��     F :��  �<�0R�8����56?J�	��s�5� F-distribution 
    S1

2  :��  ���1:������8
����1��<�1�� 
    S2

2 :��  ���1:���������1��<��?�� 
    n1 :��  	E�����
������5���F<18
���<������<� 

���1:������1��<�1�� 
     n2 :��  	E�����
������5���F<18
���<������<� 

���1:������1��<��?�� 
 

3.2  �����@����@���1:8�8<��=���;:���W����=��/�0
12�3�4����������� 
��6������7�08�9�;C�<����F<1������
@��F<1��@�F1  D��56?0A8�  t-test :@@ Independent  
Q���1���A< 4  ��s��
���
 
  

                        0118�o�� H0  :  µ1 =  µ2 

   H1  :  µ1 >  µ2 
 
       1) ��s����/������0�@�<�������=����F<1������
@��F<1��@�F1>1<:8�8<���
� 

��<��1��
�0E��
r���0R�8�  :�;��0�@���1:������:�?�  ���1:�������

� 2 ��F<1 ��<��
� 56?
0A8� (Kohout, 1974 : 343) 

 

 0A8� t = 
( ) ( )

   
n

1

n

1

2-nn

S1 -nS1n

X  -  

212 1

2

22

2

1 1

21









+

+

+−

X  

  df = n1+ n2 � 2 
 
 �1.�� t :��   �<�0R�8����56?J�	��s�5� t-distribution 
  

1
X  :��   �<��W����=���;:���
��������F<1����� 
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2

X  :��   �<��W����=���;:���
��������F<1��@�F1 
  n1 :��   	E�����
������5���F<1����� 
  n2 :��   	E�����
������5���F<1��@�F1 
  2

1S  :��   ���1:������=���;:���
������5���F<1����� 
  2

2S  :��   ���1:������=���;:���
������5���F<1��@�F1 
 
        2) ��s����/������0�@�<�������=����F<1������
@��F<1��@�F1>1<:8�8<���
���<��
1��
�0E��
r���0R�8�  :�;��0�@���1:������:�?�  ���1:�������

� 2 ��F<1 >1<��<��
� 56?
0A8� (Kohout, 1974 : 343) 

 

 0A8� t = 

2

2

2

1

2

1

n

S

n

S

XX
21

+

−  

 

  df = 

1n

n

S

1n

n

S

n

S

n

S

 2

2

2

2

2

1

2

1

2

1

2

2

2

2

1

2

1

−










+
−


















+

 

 
  

�1.�� t :��   �<�0R�8����56?J�	��s�5� t-distribution 
  1 X  :��  �<��W����=���;:���
��������F<1����� 
  2 X  :��   �<��W����=���;:���
��������F<1��@�F1 
  n1 :��   	E�����
������5���F<1����� 
  n2 :��   	E�����
������5���F<1��@�F1 
  2

1S  :��   ���1:������=���;:���
������5���F<1����� 
  2

2S  :��   ���1:������=���;:���
������5���F<1��@�F1 
 
        3) ��s����/������0�@�<�������=����F<1������
@��F<1��@�F1:8�8<���
���<��1�
�
�0E��
r���0R�8�  :�;��0�@���1:������:�?�  ���1:�������

� 2 ��F<1��<��
� 56?0A8� 
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(�
�:���	�������0�@�� 6�����F<18
���<��>1<0
1J
�39�
�  :�;�

� 2 ��F<11����1:������
��<��
�=�� Kohout, 1974 : 343) 
 

 0A8�    t     =  









+

−+

−+−

−

2121

2

D2

2

D1

21

n

1

n

1

2nn

S)1n(S)1n(

DD

21

 

  df   =     n1+ n2 � 2 
 

�1.��   t  :��   �<�0R�8����56?J�	��s�5� t-distribution 
         1D  :��   �<�1
6��1��=�s�8=��/�8<��=���;:��5���F<1����� 
         2D  :��   �<�1
6��1��=�s�8=��/�8<��=���;:��5���F<1��@�F1 
         2

D1
S   :��   �<����1:������=��/�8<��=���;:��5���F<1����� 

         2

D2
S  :��   �<����1:������=��/�8<��=���;:��5���F<1��@�F1 

          n1  :��   	E�����
��������F<1����� 
          n2  :��   	E�����
��������F<1��@�F1 
 

       4) ��s����/������0�@�<�������=����F<1������
@��F<1��@�F1:8�8<���
���<��1�
�
�0E��
r���0R�8�  :�;��0�@���1:������:�?�  ���1:�������

� 2 ��F<1>1<��<��
� 56?0A8� 
(�
�:���	�������0�@��  6�����F<18
���<��>1<0
1J
�39�
�  :�;�

� 2 ��F<11����1:������
��<��
�=��  Kohout, 1974 : 343) 
 

 0A8� t     =     

2

2

D

1

2

D

21

n

S

n

S

DD

21 +

−   

 

  df    =      

1n

n

S

1n

n

S

n

S

n

S

2

2

2

2

D

1

2

1

2

D

2

2

2

D

1

2

D

21

21

−












+
−






















+
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�1.��     t               :��   �<�0R�8����56?J�	��s�5� t-distribution 
         1D  :��   �<�1
6��1��=�s�8=��/�8<��=���;:��5���F<1����� 
         2D  :��   �<�1
6��1��=�s�8=��/�8<��=���;:��5���F<1��@�F1 
         2

D1
S   :��   �<����1:������=��/�8<��=���;:��5���F<1����� 

         2

D2
S  :��   �<����1:������=��/�8<��=���;:��5���F<1��@�F1 

          n1  :��   	E�����
��������F<1����� 
          n2  :��   	E�����
��������F<1��@�F1 

  
3.3 �����@����@���1:8�8<��=���;:����0�@�
�/�0
12�3�4�������������6�

�����7�08�9 �<��������
@C�
������=����F<1����� :�;��F<1��@�F1 D��56?0A8� t-test  
:@@ Dependent  (Kohout, 1974 : 351) 
 

 0118�o�� H0   :   µpre  =  µpost 

   H1   :   µpre  <  µpost 
 

 0A8� t = 
( )
1-n

DDn

D

22 ∑∑
∑

−
 

  df = n-1 
 
 �1.�� t :��   �<�0R�8���56?5����J�	��s�5�  t-distribution 

D          :��   /�8<���;C�<��=?�1A�:8<�;�A< 
  n :��   	E�����A<=��=?�1A� 
  ∑D    :��   /���1=��/�8<��=���;:�� 
  ∑ 2D  :��   /���1=��/�8<��=���;:��:8<�;�A<���E��
�0�� 
 

 


